51 E & AN i1

7 1T A4 3555 FH 5 Python #4914 8 pRECRT Py thon bk 128 v SCHRY ek 8, 352 28 % fili
BREA A N RSB s B D7 N E A MR, XSRS PR R AZE & X
LB RS S8 URR SE D RE A AUTS B, BRI pROBCRY D RE L PR KA L RN A/
2wl T DUTE A e 7 28 67 B R A 0 P ek RO R AT LD BE . (B2 RADEA M IE B A
TR PR S B A B AT B L eR U — R I BB AR

FHP A RE SR UM PN B pR B AR TR — R B AT R s R, A B EEHE Python
FI 2 SCPREL.

5.1.1 FREHHE

PR £ (function) J& — > AH XA 7 (9 5244 L J2 X6F 58 ) — 58 D) g A A0 A5 B i 2, & —
SRV

FE SL— R s T DATE — A8 5 7 2 09 060 8 22 YR % ek 85, 0 FH I 45 10 AN [] 1Y)
SRR T LA S BUXEAS [R) 540 1 b B Al v] DL AR S [ 9 22 A4S R ob o A S BT LA R T L S
IACES L X AR ACAS 2 F AT DAk A B R AR B, YW BB T R i, HE AR R P &
AR, BT A IR AL B 4 T RE 2 Bk R s BT, T LA RRECRT AR I A 1% A 4 xR

L6510 4 5%F 3 f15.6 F1 8,12 A1 28 R KIE .

RV N RGN S A R (1

X, y=3,5
if x >y:
result = x

1

2

3

4 else:

5 result =y
6 print ("3 M 5 W KIEN(}".format (result))
7

8 X, y=26, 8

9

if x >y:

10 result = x



11 else:

12 result =y

13 print ("6 Ml 8 (Y KM N {}".format (result))
14

15 x, y=12, 28

16 1if x >y:

17 result = x

18 else:

19 result =y

20 print("12 fl 28 A KME R (). format (result))
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WA o 7 5 SRS R AR ok KR S A AT LUK feg 40 °F

def calMax(x,y):
if x >y:
return x
else:

return y

print ("3 5 M KM R (1. format (calMax(3,5)))
print ("6 Ml 8 I KMH N (}".format (calMax (6, 8)))
print ("12 Fl 28 i KIEH {}". format (calMax (12,28)))
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| def calMax(x, y): | Ffsk  return ﬁ—ix/‘ﬂ’@ﬁ?ﬂ?ﬁ%ﬁﬁfﬁ%ﬁ%’lﬁ%%ﬂ*ﬂiﬁ:éﬁ

ifx>y: P

result=x i} SR 4 B S5 (L B 00 1, G R 0 S
else:result=y ) e I 5-2

return result & 5-2 ", calMax /& A & LI BRE A, x y =W
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WA L “print("Max={}".format (calMax(5,18))) " &A% ok R [PI{E B 5
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def printHello(s):
print("Hello" + s+ ", ")

print ("Welcome to Chinal!")

printHello ("Mary")
printHello ("John")

~ o s W N

printHello ("Tom")

IZER TR RT3 4748 printHelloO By pRECE X, T pREGR [F1E (52 B pF 0GR [81{E Sk
None) ;58 5~7 472 K50 H1EA), BNJE FH printHelloO %X 3 IR,
PATEE R,

Hello Mary,
Welcome to China!
Hello John,
Welcome to China!
Hello Tom,

Welcome to China!

L] 5,30 G R AT 2 Wb 9 e R AR IR 20 A HLPR AT e

FEFF I SE AR I T
1 def calMax(x, y):

2 if x >y:

3 result = x

4 else:

5 result =y
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return result

a, b = eval (input ("IEM AP AE:"))

m = calMax(a, b)

O o J o

10 print("Max={}".format(m))

PATE R AT

AP 5, 8
Max=8
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a.b = eval(input("HHAPT M H: ") def calMax(x, y): X,y =5,8

®|ab=538 A ifx>y:
@ result = x
B)

m = calMax(a,b) else:
‘@\ 1
result =
&|m=s S I 8 Y
return result result =8

print("Max={}".format(m))
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1 def toHexStr (hexInt):

2 if 0 <=hexInt <=9:

3 return str (hexInt)

4 else:

5 return chr (ord('A') + hexInt - 10)
6

7 def decToHex (decInt) :

8 hexStr = ""

9 while decInt !=0:

10 hexInt = decInt %16

11 hexStr = toHexStr (hexInt) + hexStr
12 decInt = decInt // 16

13 return hexStr

14

15 decInt = eval (input ("IHH A —A T =% "))
16 hexStr = decToHex(decInt)

17 print ("FHEHIECOES oS TERIECA (). format (decInt, hexStr))
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BATHIRIT
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1 def calGecdLecm(m, n):

2 a, b=m, n

3 if a <b:

4 a, b=Db, a #a AU R R
5 while b !=0:

6 temp = a $b

7 print ("&H N :", temp)

8 a=b

9 b = temp

10 gced = a # KA 28
11 lecm = int(m * n / gcd) # I /INAREEL
12 return gcd, lcm # 23R [l{H

13
14 x, y= eval (input ("iHFHM APIANEE "))



15 z1, z2 = calGedLem(x, y)
16 print ("RKANAEH: (), BAAEE N (). format (z1,22))
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15 z = calGedLem(x,y)
16 print ("ARALHEN: (), /DN AEE R (1. format (z([0], z[1]))
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>>>def funStu(name, gendor, age, score, city):

print ("name=", name)

1
2
3
4
5
6

print
print
print
print

(
(
(
(

"age="

"gendor="

"score="

"city=",

, gendor)

, age)

, score)

city)
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funStu("Mary", "Female", 18, 98, "Jinan")
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funStu (name="Mary", age=18, gendor="Female", city="Jinan", score=98)
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Wz . man, i funStu ("Mary" , "Female",18, city="Jinan", score=98)” 347 oK F i
JH R IE R B 2 FT“funStu ("Mary" , "Female", age=18, 98, "Jinan")” 347 BRI Z00H I 2
BRI, DR AR T2 B S50 (98, " Jinan) AN BETE KA T2 (age=18) Z J5 1 FL.,
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BIFAHIT .,

from math import sgrt

def f dist(xl,yl, x2,y2):

a,b,c,d = eval (input ("I fif ALBARIE -

1
2
3
4 return sqrt((xl - x2) ** 2 + (yl - y2) ** 2)
5
6
7 result = f dist(xl=a, x2=Db, yl=c¢, y2=d)
8

print ("F A A EIRKICHEBS M : {: .2F )" . format (result))

FRLEE 7 A7 [ distO pRBU R B sk 2 ek 7 S5,
BT,

WAL FR(E:3,8,5,9
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5.2.2 SHEEINE

RPN A LN S E B, W R %L funStu(name, gender, age, score,
Clty)EPEI’J city ZBF IR FE TR . A0 city BBOMEBE A Beijing I8 4 75 BRI 4L
A SRR A SE S Ag L U 2 2 | S ORI .

BB funStuO M R ECL Ky

def funStu (name, gender, age, score, city="Beijing"):

B city $6 %E T #RINE Beijing . He o BOR T nT RIR ATA0 R J7 5.

funStu ("Liming", "Male", 19, 87)

LERIE .

name=Liming
gender=Male
age=19
score=87

city=Beijing




